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GENERAL ENGLISH
SECTION-A
(MULTIPLE CHOICE QUESTIONS)
Read the passage carefully and choose the correct answer from the given options:
(1x10=10) '
In India there are 280 million cows. They produce valuable things like milk, dung and calves.
But cattle are-expensive to keep. The biggest outlay is food — the average cow consumes
fodder worth about 10,000 rupees a year.
These expenses are so high that cows are often a poor investment. According to a new and
splendidly titled NBER paper, which looks at cow and buffalo ownership in rural areas of
northern India, the average return on a cow is -64 percent once you factor in the cost of
labour.

If returns on cattle are so bad, why do households buy them? People may not be thinking
about economics, of course. Hindus may derive spiritual fulfilment from cow ownership.
Households may prefer to produce high quality milk at home, even if doing so costs more.

But the authors suggest that there may also be sound economic reasoning behind cow
ownership. According to ICRIER, a think tank, only 7 percent of Indian villages have a bank
branch. That means people lack a formal savings mechanism for their spare cash. And
although there are informal ways to save — joining a local saving club, for example or simply
stuffing money under the mattress- owning a cow may be a better option.

People find spending easier than saving. Immediate pleasures are easier to grasp than
future joys and so people make spending decisions that they later regret. Economists refer
to this as “myopia”. Cows force people not to be myopic. Compared with money held in
saving accounts, the cattle are illiquid assets. Taking cash from a cow is harder than taking
money from an account. As a result, temptation spending is trickier.

The paper has implication for poverty-alleviation strategies and for financial services in
developing countries. Aid programmes that try to reduce poverty by distributing livestock
may be ineffective at raising incomes, if the returns from owning them are so poor. If cows
are used as a means of saving, the spread of mobile banking in places like India will provide
another, better option. Even then the problem of temptation spending arises. Dean Karlan,
one of the authors, is interested in the idea of “commitment saving accounts”, whereby
people forgo their right to withdraw funds until they reach a specified level.

1. Why do households buy cows despite the fact that the return on cattle is not
beneficial?

To get high quality milk at home

For spiritual fulfilment

Because of ignorance of economic aspects

Only (a)

Only (b)

Only (c)

Alla,bandc

SnNnePrpoTe




2. What is economic myopia? Choose your answer in the context of the given passage.

A.

onNy

Spending is easier than saving

Spending gives pleasure while saving causes hardship

Spending decision for immediate pleasure at the cost of future repentance
!nability to see objects clearly placed at a short distance

3. Which of the following statements is/are contrary to the facts mentioned in the
given passage?

a.
b.
c.

oNn®>

Getting money by selling cows is easier than withdrawing it from savings account
Cows force people to be economically short-sighted

Aid programmes that try to reduce poverty by distributing livestock may be
ineffective

Onlyaandb

Only b

Onlybandc

Only a

4. What economic reason has the author suggested behind cow ownership?

A
B.
o

D.

. Rural people prefer to exchange goods for milk.

Cow owners are usually illiterate and hence hesitate to go to bank branches.

. People.lack a formal savings mechanism and owning a cow is a better alternative

for them.
People think it is better to have their own cows than to purchase milk from

. vendors.

5. Which of the following is not true in the context of the given passage?

A.
B.

The high expenses to keep cows have become bad investment.

When the labour cost is also added to the total cost, the average return on a cow
gives a negative return. B

The biggest expense on keeping a cow comes on food.

The NBER paper is concerned with looking at cows and buffalo ownership in the
whole of rural India.

Choose the word from the options which is most similar in meaning to the given word
from the passage:

6. SPARE

A.

B
C
D

Temporary

. Regular

Extra_

. Scanty




7. STUFFING
A. Misusing
B. Contents
C. Sinking
D. Depositing

Choose the word from the options that is most opposite in meaning to the word given
from the passage:

8. OUTLAY
A. income
B. expense
C. plinth
D. outdo:

Mﬂuwdfmn'ﬁnmtlmkmﬂhmuhmwm
the passage: '
9. ALLEVIATION
"4 A Allotment
B. Lessen
C. Inclination
D. Allowance

Mmmmmmmumhmummm
from the passage:

10. FORGO
A. Reject

il




Read the following passage carefully and choose the correct answer from the given
options: (1x5=5)

Many people love the cute koala bear. This animal has been into stuffed toys all over the
world. But it is rare to see this creature alive and moving, because it is gradually becoming
extinct. The koala, like the kangaroo, is actually a marsupial. It contains a small pouch for its
young, like the kangaroo. For this reason, the koala is not related to true bears. In
appearance it is a combination of a monkey and a kangaroo. Koalas are native to Australia
and they are now chiefly found in New South Wales and Queensland. They are highly
protected animals, because their number has greatly diminished in the last ten years.

The koala has been hunted since the middle of this century for fur and food, which has
moved it from its normal habitats. Today, anyone found harming a koala is severely
punished by law. Koalas get their endearing appearance from a covering of grey fur and
little tufts of white hair on the sides of their faces. Their eyes are small and black, set in their
head. They have large ears and curved noses but no tail. They use their arms and paws to
climb through the trees. Koalas have interesting living habits. They are nocturnal, which
means they move around chiefly at night. Koalas do not stay on the ground. They move
from tree to tree, carefully lowering and raising themselves by paws. Koalas eat only the
leaves of eucalyptus tree, which is another reason that they are now becoming extinct.

The eucalyptus tree is disappearing from their natural habitats, fighting a battle against
extinction on their own. Koalas have a surprisingly long-life span, which can range from 9 to
20 years, in rare cases. The koala’s worst enemy, besides hunters, is fire. When a tree is
inflamed, often they cannot run fast enough to save themselves. Baby koalas are in danger
around certain kinds of lizards and eagles, although they are protected today by natural
habitats set up for them. It is interesting to note that many koalas die from being hit by cars,
and some are even attacked by dogs.

11. What has led the koala bear to move away from its natural habitat?
A. To escape from being hunted for fur and food.

To avoid the danger from lizards.

It needs a different environment now

The normal habitat does not provide sufficient food

oOnw®

12. Which of the following are causes of danger to koala bears?
A. Fire, Lizards
B. Accidents with vehicles, dogs
C. Both (A) and (B)

D

. The nocturnal habits

13. Which of the following statements is false about koala bears?
A. Koala bears eat eucalyptus leaves
B. Koala bears have large ears and curved noses
C. Koala bears have small black eyes
D. Koala bears have short tails




14. Which of the following statements is true about koala bears?
A. They can safely live among animals like birds, dogs and eagles
B. Koalas have a long-life span
C. Koala bears are commonly found all over the world
D. Koalas do not use their paws as much as their arms

Choose the word from the options which is most similar in meaning to the given word
from the passage:

15. ENDEARING
A. Mischievous
B. Adorable
C. Funny
D. Content

Choose the correct synonyms of the words from the given options: (1x5=5)

16. IMPINGE
A. Soak
B. Ridicule
C. Argue
D. Encroach

17. RETICENCE

A. Reserve
Sincerity
Frankness
Generosity

oOnNnw

18. ASSUAGE
A. Rub
B. Prohibit
C. Ease
D. Enlarge
19. EXHORT
A. Encourage
B. Discourage
C. Provoke
D. Casual

20. SOLECISM
A. Error
B. Correction
C. Ending
D. Beginning

























